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My thoughts on entropy
http://www.hypothesis-of-universe.com/docs/aa/aa_227.pdf ;
http://www.hypothesis-of-universe.com/docs/aa/aa_210.pdf ;
http://www.hypothesis-of-universe.com/docs/aa/aa_202.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_112.pdf ;
http://www.hypothesis-of-universe.com/docs/eng/eng_136.pdf
http://www.hypothesis-of-universe.com/docs/eng/eng_178.pdf ;
http://www.hypothesis-of-universe.com/docs/h/h_013.pdf ;
http://www.hypothesis-of-universe.com/docs/h/h_030.pdf ;
http://www.hypothesis-of-universe.com/docs/h/h_033.pdf ; r. 2005

K tomu, aby rostla entropie, tj. neuspoiadanost, musel byt ptedchozi stav uspofadanéjsi tedy
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leptony, pak atomy, pak molekuly, atd. ) ....ale jak sem ukazal : zac¢ina to plazmou ““prvni
hmoty“““ 100%, pak ““se vyrobi“* 74% vodiku ( zlstane uz to mnozstvi konstantni ), pak
““se vyrobi** 24% helia ( a zistane toto mnozstvi uz konstantni ), pak ““se vyrobi“ uhliku
cca 0,6%, pak kysliku je cca 0,004% ...atd. ; ,,mnozstvi kazdé vyssi slpritosti hmoty klesa
geometrickou fadou aZ se dostaneme na bilkoviny napi. na 10%°% , a DNA na 101% % , ¢isla
si vymy3lim, coZ je [pravé a jeding na Zemil a nikde jinde ve Vesmiru.  pyramida sloZitosti
kvalita krat kvantita = 1x1]. http://www.hypothesis-of-universe.com/docs/aa/aa_037.pdf .
http://www.hypothesis-of-universe.com/docs/eng/eng_009.pdf ; http://www.hypothesis-of-
universe.com/docs/aa/aa_034.pdf ; To znamena, Ze ke kazdé vyssi slozitosti = usporadanosti
dojde ,,skokem* a to ve stdle mensim objemu Vesmiru a tato entita se pak ,,rozpada‘
entropicky, tj. roste lokdlni neuspofadanost. Tuto myslenku-uvahu je zapotiebi precizovat. ((
.n¢co z té Teorie VSeho necham i na studovany fyziky )) = English

& Czech

In order for entropy, i.e. disorder, to grow, the previous state had to be more ordered, i.e. more
complex..., but since the Big Bang, the complexity has also been increasing (first only quarks
and leptons, then atoms, then molecules, etc.)...but as | showed: it starts with a plasma of
"first matter" 100%, then ""74% hydrogen is produced™" (the amount remains constant), then
""'24% helium is produced™ (and this amount remains constant), then ""about 0.6% carbon is
produced", then there is about 0.004% oxygen...etc.; "the amount of each higher complexity
of matter decreases in a geometric series until we get to proteins, for example, at 10%°%, and
DNA at 10190, I'm making up the numbers, which is\ exactly and only on Earth\ and nowhere
else in the Universe. ¢ pyramid of complexity ¢ \quality times quantity = 1x1\.
http://www.hypothesis-of-universe.com/docs/aa/aa_037.pdf . http://www.hypothesis-of-
universe.com/docs/eng/eng_009.pdf ; http://www.hypothesis-of-
universe.com/docs/aa/aa_034.pdf ; This means that each higher complexity = order occurs by
a "jump™ and in an ever smaller volume of the Universe and this entity then "disintegrates”
entropically, i.e. local disorder grows. This idea-consideration needs to be clarified. ((..I'll
leave some of that Theory of Everything to the physics student ))
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Citace z YouTube od Beckensteina |: Kdyz se erna dira vypatuje, plocha horizontu se
zmensSuje. Bekenstein navrhl a dobrymi argumenty podpofil teorii, Ze plocha horizontu ¢erné
diry je mirou entropie, a pfesto druhy termodynamicky zakon tik4, Ze entropie se nemize
zmensSovat

IMoje reakce na Beckensteina): MiiZze !!! se zmenSovat, ale skokem!!! Skokem dojde
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74bu, ale pak uZ ryba ziistane >navéky< rybou. Zaba se jednou skokem zméni na krokodyla,
pak krokodyl ztistane navéky krokodylem, krokodyl se jednou skokem zméni na dinosaura,
ten se pak skokem zméni na koné a ten se skokem zméni na tygra, ten skokem na orangutana
a navéky bude orangutan orangutanem, ale v jistou chvili se anti-entripoi zménil na ¢lovéka
a...a ten uz naveky ztstane ¢lovékem, ikdyz se jednou ¢loveék skokem zméni na
,ultraclovéka®, atd. Doufam, Ze ¢tenar pochopil, Ze neznam biologii Darwina detailné, abych
védel, ktery druh nasleduje jiného nového druha. Byla to jen ukazka toho, ze entropie se
dimenzi se od Ttesku rozbaluje (v globalnim ¢asoprostoru) a nékdy dojde skokem k ,,zauzleni
dimenzi tj. sbaleni dimenzi do balicku“ a ty jsou pak hmotou. Kazdé zvySeni kiivosti dimenzi
je hmoto-tvorné a v tomto duchu lze uvazovat o tom, ze vesmir, ktery se stale rozbaluje a
rozbaluje (na globalni pozice), Ze mu roste entropie a Ze na konci ,,Zivotnosti“ Vesmiru se
rozbali i ty balicky = hmota az dojde k totalnimu krachu kiivosti ¢asoprostoru, k=0, a...a...a
nastane onen skok z totaln¢ plochého vesmiru = ¢asoprostoru do big-bangu k = nekonecno,
coz je totalni zkiiveni vSech 3+3dimenzi do extra pény = plazmatu, ktery se po Tiesku zacne
opét rozbalovat. Ale pozor, rozbaluji se dimenze do a) maktro-stavu a soubézné s tim se b)
sbaluji dimenze (na planckovskych Skalach) do balickii = klubi¢ek = co jsou témi
elementarnimi ¢asticemi hmoty. Pak se cyklus opakuje. - - Entropie tu existuje spolu s
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'YouTube quote from Beckenstein: When a black hole evaporates, the horizon area shrinks.
Bekenstein proposed and supported with good arguments the theory that the horizon area of a
black hole is a measure of entropy, and yet the second law of thermodynamics says that
entropy cannot shrink

IMy reaction to Beckenstein|: It can!!! shrink, but by leaps!!! By leaps, a "new, more
complex curvature of dimensions” will occur (because everything else, except space-time, is
also created from space-time quantities) in artifacts that are already curved, and which will be
combined into a new structure "with the help of" more complex curvatures. (a fish will
change into a frog in one jump, but then the fish will remain a fish >forever<. A frog will
change into a crocodile in one jump, then a crocodile will remain a crocodile forever, a
crocodile will change into a dinosaur in one jump, that one will change into a horse in one
jump, and that one will change into a tiger in one jump, that one will change into an orangutan
in one jump, and the orangutan will forever be an orangutan, but at some point the anti-
entropy will change into a human and...and that one will forever remain a human, even if one
day a human will change into an "ultrahuman®, etc. | hope the reader understood that | do not
know Darwin's biology in detail to know which species follows another new species. It was




just an example of the fact that entropy sometimes changes into a more complex structure in
one jump. In this spirit of reasoning, this means that the curvature of dimensions is unwound
since the Big Bang (in global space-time) and sometimes there is a jump to "knotting of
dimensions, i.e., the dimensions are packed into packages™ and these are then matter. Every
increase in the curvature of dimensions is matter-forming and in this spirit we can consider
that the universe, which is constantly expanding and expanding (to global positions), that its
entropy is growing and that at the end of the "lifetime" of the Universe, those packages =
matter will also be expanded until there is a total collapse of the curvature of space-time, k=0,
and...and...and that jump from a totally flat universe = space-time to the big bang k = infinity
occurs, which is a total distortion of all 3+3 dimensions into extra foam = plasma, which after
the Big Bang will start to expand again. But be careful, the dimensions will be expanded into
a) a macro-state and at the same time, b) the dimensions will be compressed (on Planck
scales) into packages = balls = which are the elementary particles of matter. Then the cycle
repeats. - - Entropy exists here together with "counter-entropy" which are those "sudden
jumps to states more crooked than k =0...
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